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The Circumterence of the yellow circle divided by its diameter = ‘Pi’ (3.142.....). —
The green sguare around the yellow circle reduced from 200% to 161.8% = ‘Phi’ (1.618). 100.0%
This gives a wihite square with a perimeter equal to the yellow circle’s Circumference,
thus ‘squaring the circle; functionally relating Pi to Phi. 1 Pilmeets Phil(

\
imple sol utlon to ‘squaring the circle’, in the light of the fuss there has been
about this for the Iast 3 millennia: - https:/ n.W|klpedla.org/W|kl/Squa ring_the_ circle
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- - CORE THEQRY s . . \ In\ 13 steps, the growing dlfferences in the Pythagorean Comma /‘
of intelligent order. \ .



